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Note: Four possible answers A, B, C and D to each question are given. The choice which you think
is correct, fill that circle in front of that question with Marker or Pen ink in the answer book,
Cutting or filling two or more circels will result in zero mark in that question.

Profounder of economics was:
Keynes 7 (D)Adam Smith 274/ (C)
Marginal htility at the point of saturation’is:,
Iitial &1 (D) Negative ¢ (C)

Slope of demand curve is:

Marshall J%L (B). 'Robbins Hs(A)
Zq.t':mﬁlf‘f{d{ﬁ 2
Zero  (A)

e bbbl 3

P’ositive:.:.‘;fh ® -

: Negative d’ (D) _Fixed d-'-#(C) Zero #* (B) Positive =2 (A)
When the price of a commodity increases its supply: :4.09;«;/1:_&.-.1_-,2 J guj -4
Ends F’ (D) Increases »sLj (C)  Balanced ()J/# (B) Decreases f/ (A)

:géﬂrcu_',lpuuyuvlbu}{‘ﬁofu 5
The price at which demand & supply are equal, is called:
Fixed price .:E uf‘) (B)
Equilibrium price AP (D)

Reserve price Lr“" =4 (A)
Variable price =4 2 (C) _
‘L(ﬁ&J @U".l.;f 4
Capital L~ (A)
s
Zero product Jilx M (A)
Total product J'!L}f,()/ (©)
' :é.JmlﬂJur)J& Solonse! -8

Basic factor of prbduction is:
Land ¢ (D) -Organization (fu ©)
The change in total product is called:

Marginal product J'J’,f;?::{ (B)

Labour ==¢ (B)

Average product slslx; b-s! (D)

Number of firms under monopoly is:

1(D) 2(C) 3 (B) 4 (A)
A monopolist firm usually carns: ;q_Ju’{J)rkr/‘wm(!l 9
Abnormal profit Slds# (B) Normal profit ﬁVd:‘v (A)
Abnormal loss uuﬁdr‘”/f(l)) Normal losg ¢lid+* (C)
Which one is not included in Nalional‘ Income? gtggﬂ;‘gé‘;&ﬂd} -10
Profit &t (B) ~ Interest s (A)
Rent W (D)

Transfer pay 2B l
payments ugg':'dwig,/
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f measurement of Nati . o > of % 12T e

Methods 0 of National Income are: WU e ]

- & AL S S 3487
(D) ) i A -11

© 3 (B)
4 (A
1he money whose face value and intrinsic values are equal: :Umcuajl.(j};ﬂ:,ll.d/t,b'(!u’ (u)f 12
- - , i -
:a;:r money LJ$XE (B) _ Token money 23 (A)
r S ‘

‘ cl it money £i,* (D) Standard money +i§sx (C)

KindS of money are: . -(;r-tJlJ ; -13
(L s -

7(D) 5(C) 4(B) . 3(A)

palance of payment includes: :ur&nd' I}.,;(,F:b'uﬂ? -14
' Services b (B) Goods #*! (A) |

Money i (D) . Goods & services =LA (C)
The rate of Zakat is: . ' 4,1}’;[,/ -1%

2.5% (D) 3.5% (C) 3% (B) 2% (A)

ID-8 B -7 D -6 D -5 C -4 D -3 A -2 C -l
D -15 A -14 D -13 C -12 B -11 C -10 B -'

, L
2:10 2% - a nhauf A bk 323 AP ber!
60 <t - (Jie) .24
Ju”féum}’(.g)pfc—él(bpdr”} .c.d;lld.ol,ﬂ 2wl
Note: Section I is compulsory. Attempt any THREE (3) questions from Scctno 11 . A

(6x2=12) J,tw/”&_,mr(ﬁ)iadf 2

Write short answers to any SIX (6) questions.
' -afubuyb;:JJ/JubL;}’f M -

Write down two dcments of the definition of Alfred Marshall
IS dfer 2 itk -1 iR
2. Does not describe all social issues.
!%(fszJ/’Jqu‘JE‘?M (ii)

Smith's definition of Economics.

U?JJU!A?}L?JJL})’?I;'JD—/U/J'H-—Err)'
=il -4 .—r’u(’y -3 i -2 ‘ .J»Lfi,v -1

Adam Smith has divided his book "the wcalth of nations" into the following four sections:
1. Production of wealth 2. Consumption of wealth

3. Distribution of wealth 4. Exchange of wealth
What is meant by economic problem?

1. Limited concept of wealth consumption.

Write down four important aspects of Adam

"f—-’/brc—.l’/tf be (i)
— J/u:"‘abJ:;-uJJHJVJJ/UIg__/‘J/J,/ IR
(i/[,,u(u,,uf S 2 -u'éfjfdwuvdu, R

u‘gnw‘db; -4 -u*dr»,o‘u-w;du 3

Jd[féu-u,c_wﬂ,ygwyu’ uyu"f_f’:_.c(u‘w)._,ur“’uub,/ld&»ﬁ Ay
b LS S n ey

efinition on the following four facts of life:

-u_:*df

Professor Robbins has bases his d

1. Sources have not alternation uses. ,
2. Some of these desires are more important and some less important.
4. Resources are limited

3- Human desires W
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According to profcssor Robbms If these four characteristics (facts) come (ogclher at tm
then an economic problem arises when any one of the feature does not exist, the economic problem
will not arise.

What is meant by organization? | | Tl L{;JTLKE: (“’)
..a»/’(,((f"leau)rj_Z. irb.:_wfllvfh(gl/»'u"‘ ftf‘,hﬂ’"u“t‘ufé'z"'/y'w
_JJ;:L(”’z-_laen

The factors of production that are rcqmrcd to combine three factor of production i.c. land
labour and capital to produce goods are called organization or employer.

What is meant by scale of production? "‘-"/"("-U"'#"S
_QtyJL;Fbﬁl,!y;,l;l,uﬂ;dluz_)tub/n_/uL(JL”(JUJ’*’A-'V s.«l_?

The scale of production includes the size of the business, the amount of business resources
and the volume of production.

Werite down tha formula of elasticity of demand | _ -4%" s W-‘.ztfv“ (vi)
| Jisd s A"
Gusdifed T

E = _Percentage change in quantity demand
Percentage change in price

What is the slope of demand curve? ?+bﬂkr5K€KJB (vii)

_c_ll'a(ik{v’up_’wb@ja.%u\?/&’i_bd/’gfi.u’f:cu’ bbb il
The demand letter tends to go from left to right downwards i.c., the demand letter has a negative
slope curve.

What is meant by infinite elasticity and stock?

_ ?4.) /Lfc.JJm‘UJ,w (viii) '
,yuc__jLv;ul,wuu'yuwdf‘”dwu'_x»waw;.;w’dr“deJJao’(/ 2

et IPL Boxssts e S-e Qs 4

If a very small decrease in the price of an item leads to a zero supply and a very slight increase in

price leads to an infinite increase in the supply, then is called infinite elasticity of the supply. In lhls
case, the letter supply is parallel to ox.

What is difference between supply and stock? Tau}brdfn,imbﬁ (ix)

_ )/Lk‘lfu} JJDZ)C—IL(})’JJ?)”JLLUJJKJ’/JLSM?JUVL)(MJC_JKU‘J}JJ( o
-JL[JALLIJ:}/J L)"r‘(f;(@s/ﬁa.t‘njnb’a/:

The total quantity of an goods at a given time that the sellers have in the market is called stock
While supply refers to the part of the stock that the sellers offer to sell at a certain price.

(6%2=12) 4:0 u;f’é._,m,—(mia.df 53 iy

Write short answers to any SIX (6) questions.
What is meant by preduction function?

i'g:l/lfc_gf".ﬁckyu U
e (de,u,u, et Migait P i bl )l mj P e i S -

Sl Gl L S e

Production function factors show the relationship between the amount of birth and the )“’Id ‘
obtained. It is also used to determine the cheapest combination of production processes.

Draw a graph of decreasing returns. -;.{':;bbb’d‘bd’%’w (“‘
Y
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:vhat is meant by large scale? T 95._,,/2(‘,___’/5'5—(1";
- t'l‘//:r.«lr J lp«!ly/L.ﬁr' g/::..u.JJ ”"C“””’df‘/'tf’d:u;‘tjj’é;;!.’,lg’ :VB

" The scale on which goods is to be mass-produced with the help of machinery and modern
rechnology is called the large scale. v

© what is meant by 8V¢l‘8gc fixed cost? . i fes /E(G— iwssabal  (iv)

‘fz._:u:t"-»‘dh/‘d(f Mo by b S L Mo i /(‘} ,I,U,J;(_;,Ly s J i Aatzpebo (N2
s L#..»*J/ Uy b6 s ersm bt

= ez byl
/’)LV; ;

The average fixed costs are obtained by dividing the total fixed costs by the total output. These are
pasically the fixed costs per unit of production.

- Formula of average fixed costs: Total fixed costs

Total production
What is meant by average revenue? T e d b (V)
/d/;fé.cf. c'_)/(}b’c_'c_ (}I’J‘b d(ld oyl u?:/(},;lﬂy(jl;?/‘f}ér'“,,l/‘; U bl P |
_Ltblff'dc.urb’l&bi};dbabp(u-’!/’
g

VKIS
Average revenue refers to the amount that a firm receives per unit on average from the sale of its

production divided by the total revenue by the units of production sold.
Total recovery

Units of production
Define dumping. : -g‘,{._d/’JU’JLJulﬁ (vi)
AN IR rc_c/_n,//_)/ RN V)’:Lb»ya.f' LSO el

Dumping policy means scllmg your goods at low prices in other countries of the world in order to
; control the economy.

Define normal profit. ' ’ (_J__.J/*’Jdvd,f“ (vii)
-xer_LLwJJ/.:_L/JJ,?/J?c_.m‘jvm e Lods™ 2

;Normal profit is the profit that is enough to motivate a firm to stay in the industry.
‘What is meant by mobility of labour? o Yc_J/L(a.d/AﬂJJ (v m)

e b8 r et Pt b pna ¥l LG pma blibiny il?
The movement of labour from one place to another or from one job to another is called mobility of

labour,
‘What is meant by land? ?c.'.:/lfc.ufz (ix)

;:v_‘”uh.’c_,._;,}’p JﬂfiaJlrLU/J'J’jU"C-JLL/af/jv'ﬂbf i:—J/"/LLﬂJ I}

_o/JJs//J‘.LJ‘L:’duL'»’vJJl dyty "(ﬁﬂlk"‘tlﬂulf)ul/ ll/L Ul'vv

Eatth refers not only to the surface of the earth on which we walk, but also to e\crnhmg we have
feceived as a gift from nature such as mountains, forests, rivers, seas, light; climate, rain, minerals

Average fixed costs =

= d:"ﬂvﬂ

Average recovery =

‘uch as iron, coal and petrol etc.

(6% 2 =12) -J&l&fyﬁamr(ﬁ)éc_(jf m

Write short answers to any SIX (6) qucstmns
et Gor e

Define Gross Domestic Product with the Ilclp of equation.

-u'c.’./ﬂ:bvd:”b/;y"éut,wuvldbgrwub,, JV-«(’JJJ’/ 12

d,&ld,’/’ ~ /ULV(!)’"[;’ = /!ﬂyfr[, ” u’,u
hc combination of goods and services produced in a country in one year is called gross national
duction |
’ e

|
|
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Equaﬁon;-%(;y_l)—-f’:_; GNP - Forélgn income .
“What is meant by circular-flow of National Income? ?é-"/g‘--'l(-d/ "Ld/l'd F] (i
Y ;L,_g;ub"},.a'd}fé./J:fuy»éuﬂ'i'dfwb’u'r‘f KO4087 .

y N sl
The circulation of national income between the people and business 1s called the circular flow of

national income,

" Write down four factors of National Income. -sfz/J ',J"’ILG.JTU’ ; i)
M4 g s Jdid 2 Euidun 1 -y,

1. Humanresources 2. Naturalresources 3. Artificial resources 4. Division of labgy,
. Yy f;lﬁ/kJJ)?yh.qu‘?}& )
Write down four difficultics of barter system of direct exchange.

LK Z s T 4 .'.'J,’L'V(J‘b('?' 3 Susdi 2 JJ,,LL,.,J;‘/ S NP

1. Lack of common quality value 2. Difficult to store value
3. ltem mismatch 4. Problem with future payments ; Th
Write down two kinds of metallic money. ~ : -E’-L:!ff' DI”J”U"’-‘ ()]
u'd/L'V -2 JJ.U?U‘ -1 ftJ."r-‘f’-"’&JJl» ‘R
_Two types of metallic money are: 1. Symbolic money - 2. Standard money
State four characteristics of good money. ; _ S [ T )
_ SApL 4 é.ﬂ;:!.?gjy -3 tﬁ(‘?} Kw -2 RS B T
1. Uniformity 2. Stability of value 3. Could not copy 4. Sustainability
Define trade cycle in the words of Prof. Keynes. -5‘,‘:4%/6 (}/lﬁjﬁﬂﬂ”&)’c{/.;:{ (vii)

_qu&_}.i&gid/(,(./c;g \,(Lnglsdé'gﬂﬂﬁ’?:‘?t!’c.t/:-.?ﬂfn"-ﬂ’#,)’:JJEJWLZ?( l?
-u_:‘L/fffﬁd}b’,(f)’d’uﬁulﬁlF‘."JZ.J/A’»’L;‘L):J?LM

According to Keynes trade cycle are caused by change in investment due to change in the marginal

efficiency of capital. According to him both the rate of interest and the marginal efficiency of capital
together determine the volume of investment. =

What is meant by International trade? : SeslpWe c FSIIE (vii)

-LE%—J—,&Jg"d’;ﬂ’c}ff;J?dbLﬁukn[.UJJ;QZ.JVJ‘—:’» WA
Trade between people of two different countries is called international trade. ;
- ?{_,;l/([;,dgﬁ (iv).

-c‘:_t‘ll;{fg‘fluugi_ﬁ;lug:e{&ﬂi lc,Jb'L-J{" g

The tax that people pay on their income is called income tax.
- (r32) ' - ‘
EELFSU bl IS e S e pon S A w

Write down the definition of economics given by Robins and also write down ifs'
merits and demerits. _

g o e (LB, Lo n ) Bs

Describe the law of diminishing marginal utility. Explain it with the hCP of

schedule and diagram.
-éga:.ri/?lb:lul}f@ u,d’d’b‘kﬁ’b;g @

Explain the law of diminishing return with the help of schedule and diagram.

Describe the kinds of money. s éubru'lgf)) va
L d ? & % . ‘ s o<

?U/g&):uyl-Uiuldzb’/?ﬁ;_ﬁ/g‘_aytdjb// ﬂ :

What is meant by public finance? What is differ " e an?
private finance? : ence between public finant = |

,What is meant by income tax?



https://v3.camscanner.com/user/download

